% &. 6 é Polynomentwicklung

Name: Datum: Ergebnis:
(x+ 6)(4x + 4)(6x + 2) (x— 4)(dx—3)(x— 4)
Sx+ (4+2x)(x + 3)(3x— 1) (3x + 5)(6x% + 3x+ 6) + (3x + 2)(5x — 4)
3x+ (2+ 2x)(2x + 6)(3x + 3) (4" — 1)(Bx—2) +5° +2x -2
Sx— 2+ x)(dx— 1)(x +3) (6x— 1)(x + 6)(2x — 1)
(x+ 1)(5x—3)(3x — 4) (x+ 6)(2x— 6)(5x — 3)
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Polynomentwicklung
Name: Datum: Ergebnis:
(x+ 6)(4x +4)(6x + 2) x—4dH(AEx—3)(x—4)

24x> + 176x> + 200x + 48

Sx+ (@4 +2x)(x+3)3x—1)
6x° + 28%° + 31x— 12

3x+ (2+ 2x)(2x + 6)(3x + 3)
12x° + 60x° + 87x + 36

Sx— 2+ x)4x— 1)(x+3)
—4x> — 19x% — 14x+ 6

(x+ D(5x—3)3x—4)
15x° — 14x% — 17x+ 12

A — 35x% + 88x — 48

(3x+ 5)(6x + 3x + 6) + (3x + 2)(5x — 4)
18x3 + 54x% + 31x+ 22

(4 — 1)(Bx—2) +5¢ +2x — 2
120° = 3% —x

(6x— D)(x+ 6)2x — 1)
12x° + 64x° — 47x+ 6

(x+6)(2x—6)(5x— 3)
10x” + 24x% — 198x + 108
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